ERRTESD (2018FEITR A IF1EERDIE. 2019F58 1 HH 520204 H30H ETICRIRAREL-LD)

= SHER | BRAFITHRXEXIIEROA | rEE |REOH| XZ A FRIREH
BES = B R Py R BE % = R (s
KEBERTSEHFEEE EHER ) BrIVAVYIVE
1 ~ 1 5/15 [FHHEIOBEMIZHITAImMEL | 5/27 [BRTIF ERER N IVA Y VIVEE
=IRTOXE ERBRETEE
2 ~ 27 6/1 [BER&E EH 5/30 |FAR 79 Egz g ,:_%;_ . 2
AVBIANILREIFHARMBLL X — 8B A 2 Blam 4=
28 ~ 31 6/1 " 5/30 = 81 s 8 E & 526-5(17)
7k2ﬂﬁ§fi$ﬁjj&l:i%é§%ﬂ%- B = 1 B
32 ~ 33 7/26 géfﬁé. RXEORXBEKRM | 6/10 |FR 292 KK 5 1B @
K- BIRBETRICRIBHE & -
- e B T _nfsﬁﬁ IE 1% EJ
34 ~ 35 7/26 ggfﬁﬁ. SBOSEFKAE | 6/10 = 292 KK 5 1B B @
36 ~ 36 8/20 |FH1RFABROBEHRBREREAT 3/13 %%BF*EJ 1157 % zﬁ:ﬁ; EE §6%(ﬁ)
BREVLEXOHTRVEEY — &8 ® 5 B|25 (@)
3~ 46| B Inmpapmashrsae | 728 |5 B d m B g B3R ®)
HEGUHEESBHREEEEMN 1566- |12 at B
47 ~ 74 11/8 |PHEBEENSHEBAELS 10/30 (B 1 lE = B o =
[EH =
HERUBEZSEABEEEM _ =
B o~ 111 | 11/8 |pReEEBEAMIIONT Z| 10/30 | EH e ?Et " g
75\ T~ = =]
- BREEERUEMIHNSER - 1566- |18 it B
112 112 11/8 pr g annyel 10/30 [RE#E 3 = = oy =
113 ~ 125 | 11/14 [Lo7L U REEER 12/19 |BA= 188-1|% %1 B £ F®
126~ 319 | 11/14 |LorLoREE 12/19 ;ﬂ‘ﬁﬁ 188-2|% M1 B ® E 22 (@)
20  ~ 50 | 11/21 (REXEEREEEELTOS |y gy M BEEEE
321 ~ 321 11/23 | 2B TAFLEXE 12/4 |RTFIF MR £ F§
322 ~ 322 11/28 |fTHRXERTERE Eh 12/4 |BTFIF Z M B =3

297




323 377 | 11/28 [{EIREDEL 1112 |29 | 408 mzamzaalZ®
R 35 (F)
- —EBBA | 1529- |18 il Bl,=
378 378 12/6 |RAEHKREKEE 2/28 = A N = EEzva(ﬂil)
379 370 | 12/6 |BMRAEEMESLEEAN | 228 R |020E 0B
2 |8 W B # 87
E B X &t B
380 380 1/16 |ARSIEEICET HHE 2/10 |FBAR | 2185 [ F IR F250E)
o Ok OB OE
. - 25({@)
381 423 2/7 |BEA—L FH 5/31 _T_“ 150 |RBRSRBELH|3EE)
- 65(1T)
424 503 2/7 |REA—IL ED 7711 |BE 990-1 % ® }7,2 & 2
_ e 25 (&)
504 714 2/7 |REA—IL FH 7/11 %gﬁ'a’ﬁ 990-2 | = * }Zg & 523%@)
- = 65(1T)
715 719 | 27 |BHmEBOSE EH /11 |RER 990—3§ ® ;L; E f?%s%@)
2 R X 1 #
720 720 3/8  |EREADRERE 5/15 |BFIF ?E IR &*
BmoF IR =
. 1600-|% B X £ 8
721 771 3/8 |[EREANDRER 12/9 |BAR 1 ¥ F IR B3
o2 R B OE
_ B2 R X & &=
772 892 3/8 |EREADRER 12/9 _f’lﬂﬁﬁ 1620 ¥ E IR %gfgg;
= o R R =TT
N 1600— B R X & #
893 893 3/8 |EREANDRER 12/9 |FAHEE 3 ¥ F IR ES
o R OB OE
s — & 2 B It % o
894 894 3/29 |BEEKRE 5/8 = 34 E R B % ;%21?(1@)
— im s _ Brava'vvavhE|, a
895 895 3/29 éfﬁ*ﬁ@miﬁﬁﬁl$m1§ﬁ% 4/23 _"EBEﬁ 58 Bﬁgﬂﬁlﬁ]‘/'\“\/"‘/ﬂyﬁ g‘zgg;
= T EERF B =
— i ams _ BHavAavvavhE|, a
896 gos | 3/20 (ARBETHBRIFEIRG | )00 |—8M | 56, |EmEmiviE §E§§§
= T EER RSB =
- —ERE #“® % Bl,a
sk =B
899 1696 | 4/12 |BEFERE 10/31 = 360 £ . E%s?@)

298




